N=FE
T2 SE4A1ANSTR2 6383 1HFT

AR

B : [
. IADE

o o

= &zt — A - _

= o= KRS st KERISst
1. EREAEERINA 1,000 1,000 0 0
2. =EIRA 2,450,000 1,200,000 0 1,250,000
3. MUNA 581,100 581,000 100 0
4 . fEBhEUNA 300,000 0 300,000
5. FfPEUIXA 50,000 0 50,000
6. BASUNA 100,000 0 100,000
7. BEILA 50,000 0 50,000
HEAR A AET A 3,532,100 1,782,000 100 1,750,000
BIHAYEIN T Z=5E 3,820,864 863,313 2,957,551 0
IRAEST B 7,352,964 2,645,313 2,957,651 1,750,000
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1. B8 2,950,000 1,300,000 50,000 1,600,000
2. EHE 978,000 825,000 3,000 150,000
3. BA® 100,000 100,000 0 0
LR AET C 4,028,000 2,225,000 53,000 1,750,000
WEAINE Z=ZE A-C -495,900 -443,000 -52,900 0
IRERGEHIINSE ZZE B-C 3,324,964 420,313 2,904,651 0
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I. UNADEB
1. EXEERE 1,000 4,000 -3,000
EARIEFBUIA 1,000 4,000 -3,000
2. =BIRA 1,200,000 1,300,000 -100,000(% 1
3. HEUNA 581,000 721,000 -140,000
ZEFIR 1,000 1,000 0
EEHEINA 30,000 20,000 10,000
MEESARGEUNA 400,000 400,000 0
BRI 150,000 300,000 -150,000]*2
4. FFEIA 0 0 0
5. FERNFRISFHRARINA 0 0 0
LHAUN A &ET A 1,782,000 2,025,000 -243,000
BTHAERN ST %R 863,313 1,123,915 -260,602
INAAET B 2,645,313 3,148,915
I. SZHOEP
1. BHEHE 1,300,000 1,250,000 50,000
FRERITE 1,150,000 1,150,000 0
ZEERE 0 0 0
REE 100,000 50,000 50,000(%3
BEERE 15,000 15,000 0
SHFERE 5,000 5,000 0
Py N 30,000 30,000 0
2. BIEE 825,000 825,000 0
HERlFS 600,000 600,000 0
BB 10,000 10,000 0
E= 20,000 20,000 0
REXBE 60,000 80,000 -20,000
BEERE 35,000 35,000 0
SHFEmE 30,000 30,000 0
Sfan 20,000 20,000 0
KRB 20,000 20,000 0
ME 30,000 10,000 20,000(x4
3. FENRIEEHEAS 100,000 100,000 0
FRFHEIE 100,000 100,000 0
LA HEET C 2,225,000 2,175,000 50,000
LHEAT N EERE A-C -443,000 -150,000 -293,000
IRHBREBINZ =28 B-C 420,313 973,915 -50,000
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1 MUNA 100 100 0
ZHFIE 100 100
2. BfEUIA 0 0 0
HHANASET A 100 100 0
BIHAFRBEIN A Z%E 2,957,551 2,960,196 -2,645
N A & 5t B 2,957,651 2,960,296 -2,645
I SZHoOE
1 SEE 50,000 50,000 0
F¥FREE 50,000 50,000 0
2 EiEE 3,000 3,000 0
BEEMRE 2,000 2,000 0
EHE 1,000 1,000 0
YHizHast C 53,000 53,000 0
WHANSZ ZZE  A-C -52,900 -52,900 0
RERRR BN Z%E B-C 2,904,651 2,907,296 -2,645
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I. UNADEB

1. FRBINA 1,250,000 1,250,000 0

2. @ATURA 100,000 100,000 O|—fastLD

3. fEIEIRA 300,000 1,600,000 -1,300,000|*1

4. FAEINA 50,000 50,000 0

5. FEFEINA 50,000 350,000 -300,000(x 2

6. FEUNA 0 0 0

LHARA &St A 1,750,000 3,350,000 -1,600,000

BTHARE RN Sz Z=%E 0 0 0

N7 &ET B 1,750,000 3,350,000 -1,600,000
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1. FEE 1,600,000 2,650,000 -1,050,000|x 3
S8 300,000 750,000 -450,000
YRl EEESE 350,000 750,000 -400,000
ENRI & 350,000 500,000 -150,000
=8 400,000 500,000 -100,000
ZEE 130,000 100,000 30,000
BEERE 50,000 50,000 0
TABAR 20,000 0 20,000

2. EBEE 150,000 700,000 -550,000
w5FE 0 0 0
REEE 0 0 0
JEFEMm 20,000 50,000 -30,000
BIEE 10,000 150,000 -140,000
EEERE 120,000 500,000 -380,000

3. —RYSETIRAE 0 0 0

YHiz &t C 1,750,000 3,350,000 -1,600,000

LHAUNT =28 A-C 0 0 0

IREREUNZ =%  B-C 0 0 0
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